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22, 3K AME BRI —AUREAS I (B . -3 ,1 2,4 WREA T 22 5°=
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24 BRI X ~ N(AL1) v, ox, 3, T —LHREA 5 A = ”

UJ‘»—A

it W= .
25. WA (X, V) BIREAIIAE . (1,1),(-1,2),(2,0.5),(3,-0.5) , i EE#]—n &k m1H )y
By=1L5Bx, B =
= WEB . AKEHL 2 /NE, BNE8 5,316 57,
26. LA 4 ANLLERFT S A 1Bk, I BERLIRCH 3 3K, 15K
(1)3 DMHIRLLERIIMER
(2) BH 1 LRI,

0, x=<1,
27. B S MBEHUAE R X (RN P ={ 4 K
—m, x>1,
(1) X BIREREL
(2)P{2<X<4}.

M RE™ . AR 2 /NE, 8/ E 12 5,424 53,

28. % HERENLAE (X, Y) 0 A e

Y
% 1 2 3
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2 0.36 0.15 0.24

(1) RECEWE E(X) ,E(Y) 5 (2) FIBE X, Y AR 2

1
NN o N . jx(yH), 0<x<1,0<y<2,
29. W AERENLAS (X, Y) 1% B R EIUR f(x,y) =

0, A,
(1)R(X,Y) KT X,V (K555 5 bR %L
(2) i1 E(XY).
04183# MERIE SEING (LS U 5 3 T3k 4 70)



A R AKE 10 5,

30. 32 T 51— 5 T Ak X (B 50 IRANIE &40 V(1,0 25) , R BRI 16
e, W REA (B 50. 3 30, BB B KT a=0. 05, 2 7 1] LISA R 601 7 s 10 -4
FhEH 50 5 (g gps = 1. 96) 2

04183# HERIS HHHG T (L3508 55 4 (k4 W)





